Reasoning and Problem Solving — Mass and Capacity answers

1a. 100g; 50g; 1kg; 59
1b. 200g; 250g; 6kg; 659
2a. She is incorrect. kg = 1,000q

2b and 2c.

2d. 1kg and 150g or 1,150g

3a. Safiya has the largest weight of 650g.
3b. B,D,C,A

3c. Yes he is correct. Half a kilogram is equal to 500g which is less than
600g.

4a. 200g

4b. 1kg and 200g or 1,200g

5a. 350ml

5b. 3l and 500ml or 3,500ml

5¢. 3l and 850ml or 3,850ml

5d. 1l and 200ml or 1,200ml

6a. 2| bottle

6b. <, <, > =

7a. 4

7b. 100ml

7c. 390ml



